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QUESTION 1

Examine the structure of the TEST_DETAILS table: Name Null? Type 

TEST_ID NUMBER 

DESCRIPTION CLOB 

DESCRIPTION data was entered earlier and saved for TEST_ID 12. 

You execute this PL/SQL block to add data to the end of the existing data in the DESCRIPTION 

column for TEST_ID 12: 

DECLARE 

clob_loc CLOB; 

buf CHAR(12); 

BEGIN 

SELECT description INTO clob_loc FROM test_details WHERE test_id = 12 ; 

buf := \\'0123456789\\'; 

DBMS_LOB.WRITEAPPEND(clob_loc,DBMS_LOB.GETLENGTH(buf), buf); 

COMMIT; 

END; 

/ 

It generates an error on execution. 

What correction should you do to achieve the required result? 

A. WRITEAPPEND must be replaced with APPEND. 

B. The BUF variable data type must be changed to CLOB. 

C. FOR UPDATE must be added to the SELECT statement. 

D. The GETLENGTH routine must be replaced with the LENGTH built-in function in WRITEAPPEND. 

Correct Answer: C 

 

QUESTION 2

You created a PL/SQL function with the RESULT_CACHE and RELIES_ON clauses. In which scenarios is the cached
result bypassed? (Choose all that apply.) 
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A. when the size for the memory allocated for the result cache is increased 

B. when the function is executed in a session frequently with the same parameter value 

C. when the database administrator has disabled the use of the result cache during application patching 

D. when a data manipulation language (DML) statement is executed in a session on a table or view that was specified in
the RELIES_ON clause of a result-cached function 

Correct Answer: CD 

 

 

QUESTION 3

Which two statements are true about the working of fine-grained access? (Choose two.) 

A. Security policies can be associated only with tables, but not with views. 

B. Different policies can be used for SELECT, INSERT, UPDATE, and DELETE statements. 

C. User statements are dynamically modified by the Oracle server through a security policy function. 

D. Fine-grained access control policies always remain in effect until they are dropped from a table or view. 

Correct Answer: BC 

 

QUESTION 4

You executed this command to gather information about the memory allocation for storing query results: 

SQL> execute dbms_result_cache.memory_report 

View the Exhibit and examine the output for the execution of the 

DBMS_RESULT_CACHE.MEMORY_REPORT procedure. 

Which two statements are true about the output in the Exhibit? (Choose two.) 
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A. In total, four blocks are used by the result cache. 

B. Currently 52 KB is allocated to the result cache. 

C. Currently 32 KB is allocated to the result cache. 

D. The result cache can be increased by 65628 bytes. 

Correct Answer: CD 

 

 

QUESTION 5

Identify two strategies against SQL injection. (Choose two.) 

A. Using parameterized queries with bind arguments. 

B. Use subprograms that are run with the definer\\'s right. 

C. Use RESTRICT_REFERENCE clauses in functions that use dynamic SQLs. 

D. Validate user inputs to functions that use dynamic SQLs built with concatenated values. 

Correct Answer: AD 
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